To: Sandra Hadley

From: Elvin Ulmer

RE: 21 Marion Drive

Sandra Hadley,

After receiving Donelle Thornton's Council Order request dated May 3, 2024, to cut and clean the lot located at 21 Marion Drive., a crew was sent out to perform the work. The job was completed on May 14,2024, at a cost of \$132.17. This amount will need to be reimbursed to the Lot Cleaning Account #001-000-288.0.

Tractor w/ operator – 1.5 hours @ \$33.75 per hour	\$33.75
Bushhog w/ operator – 1.5 hours @ \$33.75 per hour	\$33.75
Laborer to pick up all trash – 2.30 hours @ \$19.42 per hour	\$44.66
Weed Eater w/ operator - 1 hours @ \$20.00 per hour	

Total.....\$132.16

+ 50,00 Admin Fee \$182.16

Please contact me at 601-319-6170 should you have any questions.

Sincerely,

Elvin Ulmer, Director

To: Sandra Hadley

From: Elvin Ulmer

RE: 1130 N 14th Avenue

Sandra Hadley,

After receiving Donelle Thornton's Council Order request dated July 1, 2024, to cut and clean the lot located at 1130 N 14th Avenue., a crew was sent out to perform the work. The job was completed on August 8,2024, at a cost of \$83.84. This amount will need to be reimbursed to the Lot Cleaning Account #001-000-288.0.

Riding mower w/ operator – 1 hours @ \$25 per hour	\$25.00
Laborer to pick up all trash – 2 hour @ \$19.42 per hour	\$38.84
Weed Eater w/ operator - 1 hours @ \$20.00 per hour	\$20.00

Please contact me at 601-319-6170 should you have any questions.

Sincerely,

Elvin Ulmer. Director

To: Sandra Hadley

From: Elvin Ulmer

RE: 2710 Old Amy Road

Sandra Hadley,

After receiving Donelle Thornton's Council Order request dated June 17, 2024, to cut and clean the lot located at 2710 Old Amy Road., a crew was sent out to perform the work. The job was completed on July 29,2024, at a cost of \$129.15. This amount will need to be reimbursed to the Lot Cleaning Account #001-000-288.0.

Tractor w/ operator – 1 hours @ \$22.50 per hour	\$22.50
Laborer to pick up all trash – 3 hours @ \$19.42 per hour	\$58.26
Lawnmower w/ operator - 1 hours @ \$25.00 per hour\$	325.00
Weed Eater w/ operator - 1 hours @ \$20.00 per hour\$	20.00
Chainsaw - 1 hours @ \$3.39 per hour	

Total.....\$129.15

+ 50:00 Admintee \$179,15

Please contact me at 601-319-6170 should you have any questions.

Sincerely,

Elvin Ulmer, Director

To: Sandra Hadley

From: Elvin Ulmer

RE: 604 W 26th Street

Sandra Hadley,

After receiving Talana Fagan's Council Order request dated June 11, 2024, to cut and clean the lot located at 604 W 26th Street., a crew was sent out to perform the work. The job was completed on July 9,2024, at a cost of \$83.84. This amount will need to be reimbursed to the Lot Cleaning Account #001-000-288.0.

Lawnmower w/ operator – 1 hours @ \$25.00 per hour	\$25.00
Laborer to pick up all trash – 2 hours @ \$19.42 per hour	\$38.84
Weed Eater w/ operator - 1 hours @ \$20.00 per hour	.\$20.00

Total.....\$83.84

+50.00 Admintee

Please contact me at 601-319-6170 should you have any questions.

Sincerely,

Elvin Ulmer, Director

To: Sandra Hadley

From: Elvin Ulmer

RE: 4208 UNIVERSITY AVENUE

Sandra Hadley,

After receiving Talana Fagan's Council Order request dated June 20, 2024, to cut and clean the lot located at 4208 University Avenue., a crew was sent out to perform the work. The job was completed on August 8,2024, at a cost of \$83.84. This amount will need to be reimbursed to the Lot Cleaning Account #001-000-288.0.

Riding mower w/ operator – 1 hours @ \$25 per hour	\$25.00
Laborer to pick up all trash – 2 hour @ \$19.42 per hour	\$38.84
Weed Eater w/ operator - 1 hours @ \$20.00 per hour	\$20.00

Total.....\$83.84

+50.00 Admintee \$133.84

Please contact me at 601-319-6170 should you have any questions.

Sincerely,

Elvin Ulmer, Director

To: Sandra Hadley

From: Elvin Ulmer

RE: 727 Haddon Street

Sandra Hadley,

After receiving Talana Fagan's Council Order request dated June 12, 2024, to cut and clean the lot located at 727 Haddon Street., a crew was sent out to perform the work. The job was completed on August 6,2024, at a cost of \$54.42. This amount will need to be reimbursed to the Lot Cleaning Account #001-000-288.0.

Laborer to pick up all trash – 1 hours @ \$19.42 per hour	\$19.42
Lawnmower w/ operator - 1 hours @ \$25.00 per hour	\$25.00
Weed Eater w/ operator5 hours @ \$20.00 per hour	.\$10.00

Total.....\$54.42

\$104.42

Please contact me at 601-319-6170 should you have any questions.

Sincerely,

Elvin Ulmer, Director

To: Sandra Hadley

From: Elvin Ulmer

RE: 1516 N 3rd Avenue

Sandra Hadley,

After receiving Talana Fagan's Council Order request dated June 28, 2024, to cut and clean the lot located at 1516 N 3rd Avenue., a crew was sent out to perform the work. The job was completed on August 6,2024, at a cost of \$51.92. This amount will need to be reimbursed to the Lot Cleaning Account #001-000-288.0.

Laborer to pick up all trash – 1 hours @ \$19.42 per hour	\$19.42
Tractor w/ operator5 hours @ \$22.50 per hour	\$11.25
Bushhog w/ operator5 hours @ \$22.50 per hour	\$11.25
Weed Eater w/ operator5 hours @ \$20.00 per hour	\$10.00

Total......\$51.92

+50.40 Admin Fee \$101.92

Please contact me at 601-319-6170 should you have any questions.

Sincerely,

Elvin Ulmer, Director

To: Sandra Hadley

From: Elvin Ulmer

RE: 1642 N 1st Avenue

Sandra Hadley,

After receiving Talana Fagan's Council Order request dated June 20, 2024, to cut and clean the lot located at 1642 N 1st Avenue., a crew was sent out to perform the work. The job was completed on August 6,2024, at a cost of \$62.88. This amount will need to be reimbursed to the Lot Cleaning Account #001-000-288.0.

Tractor w/ operator – .5 hours @ \$22.50 per hour	. \$11.25
Laborer to pick up all trash – 1.5 hours @ \$19.42 per hour	
Lawnmower w/ operator5 hours @ \$25.00 per hour	.\$12.50
Weed Eater w/ operator5 hours @ \$20.00 per hour	\$10.00

Please contact me at 601-319-6170 should you have any questions.

Sincerely,

Elvin Ulmer, Director

To: Sandra Hadley

From: Elvin Ulmer

RE: 2223 N 3rd Avenue

Sandra Hadley,

After receiving Talana Fagan's Council Order request dated June 20, 2024, to cut and clean the lot located at 2223 N 3rd Avenue., a crew was sent out to perform the work. The job was completed on August 6,2024, at a cost of \$73.84. This amount will need to be reimbursed to the Lot Cleaning Account #001-000-288.0.

Laborer to pick up all trash – 2 hours @ \$19.42 per hour	\$38.84
Lawnmower w/ operator - 1 hours @ \$25.00 per hour	.\$25.00
Weed Eater w/ operator5 hours @ \$20.00 per hour	.\$10.00

Total.....\$73.84

+50.00 Admin Fee \$123.84

Please contact me at 601-319-6170 should you have any questions.

Sincerely,

Elvin Ulmer, Director

AUGUST 14, 2024

To: Sandra Hadley

From: Elvin Ulmer

RE: 2229 North 2nd Avenue

Sandra Hadley,

After receiving Talana Fagan's Council Order request dated June 28, 2024, to cut and clean the lot located at 2229 North 2nd Avenue., a crew was sent out to perform the work. The job was completed on August 13,2024, at a cost of \$59.13. This amount will need to be reimbursed to the Lot Cleaning Account #001-000-288.0.

Lawnmower w/ operator – 1 hours @ \$25.00 per hour	\$25.00
Laborer to pick up all trash – 1.5 hours @ \$19.42 per hour	\$29.13
Weed Eater w/ operator25 hours @ \$20.00 per hour	.\$ 5.00

Please contact me at 601-319-6170 should you have any questions.

Sincerely,

Elvin Ulmer, Director

To: Sandra Hadley

From: Elvin Ulmer

RE: 108 Bay Street

Sandra Hadley,

After receiving Talana Fagan's Council Order request dated June 19, 2024, to cut and clean the lot located at 108 Bay Street., a crew was sent out to perform the work. The job was completed on July 9,2024, at a cost of \$86.34. This amount will need to be reimbursed to the Lot Cleaning Account #001-000-288.0.

Lawnmower w/ operator – 1.5 hours @ \$25.00 per hour	\$37.50
Laborer to pick up all trash – 2 hours @ \$19.42 per hour	\$38.84
Weed Eater w/ operator5 hours @ \$20.00 per hour	\$10.00

Please contact me at 601-319-6170 should you have any questions.

Sincerely,

Elvin Ulmer, Director

To: Sandra Hadley

From: Elvin Ulmer

RE: 118 Bay Street

Sandra Hadley,

After receiving Talana Fagan's Council Order request dated June 20, 2024, to cut and clean the lot located at 118 Bay Street., a crew was sent out to perform the work. The job was completed on August 6,2024, at a cost of \$73.84. This amount will need to be reimbursed to the Lot Cleaning Account #001-000-288.0.

Laborer to pick up all trash – 2 hours @ \$19.42 per hour	\$38.84
Lawnmower w/ operator - 1 hours @ \$25.00 per hour	\$25.00
Weed Eater w/ operator5 hours @ \$20.00 per hour	.\$10.00

Total.....\$73.84

+50.00 Admin Fee \$123.84

Please contact me at 601-319-6170 should you have any questions.

Sincerely,

Elvin Ulmer, Director

To: Sandra Hadley

From: Elvin Ulmer

RE: 158 SOUTH MERIDIAN AVENUE

Sandra Hadley,

After receiving Talana Fagan's Council Order request dated June 24, 2024, to cut and clean the lot located at 158 South Meridian Avenue., a crew was sent out to perform the work. The job was completed on August 8,2024, at a cost of \$83.84. This amount will need to be reimbursed to the Lot Cleaning Account #001-000-288.0.

Riding mower w/ operator – 1 hours @ \$25 per hour	\$25.00
Laborer to pick up all trash – 2 hour @ \$19.42 per hour	\$38.84
Weed Eater w/ operator - 1 hours @ \$20.00 per hour	\$20.00

Total.....\$83.84

+ 50.10 Admin Fee \$133.84

Please contact me at 601-319-6170 should you have any questions.

Sincerely,

Elvin Ulmer, Director

To: Sandra Hadley

From: Elvin Ulmer

RE: 324 Jefferson Street

Sandra Hadley,

After receiving Talana Fagan's Council Order request dated June 19, 2024, to cut and clean the lot located at 324 Jefferson Street., a crew was sent out to perform the work. The job was completed on July 9,2024, at a cost of \$61.34. This amount will need to be reimbursed to the Lot Cleaning Account #001-000-288.0.

Lawnmower w/ operator – .5 hours @ \$25.00 per hour	\$12.50
Laborer to pick up all trash – 2 hours @ \$19.42 per hour	\$38.84
Weed Eater w/ operator5 hours @ \$20.00 per hour	.\$10.00

Total.....\$61.34

±50.00 Admin Fee \$11134

Please contact me at 601-319-6170 should you have any questions.

Sincerely,

Elvin Ulmer, Director

To: Sandra Hadley

From: Elvin Ulmer

RE: 1005 Pierce Street

Sandra Hadley,

After receiving Shikinia Kennedy-Ward's Council Order request dated June 14, 2024, to cut and clean the lot located at 1005 Pierce Street., a crew was sent out to perform the work. The job was completed on July 25,2024, at a cost of \$74.13. This amount will need to be reimbursed to the Lot Cleaning Account #001-000-288.0.

Laborer to pick up all trash – 1.5 hours @ \$19.42 per hour	\$29.13
Lawnmower w/ operator - 1 hours @ \$25.00 per hour	.\$25.00
Weed Eater w/ operator - 1 hours @ \$20.00 per hour	.\$20.00

Total.....\$74.13

+50.00 Admin Fee \$124,13

Please contact me at 601-319-6170 should you have any questions.

Sincerely,

Elvin Ulmer, Director

To: Sandra Hadley

From: Elvin Ulmer

RE: 1031 Pierce Street

Sandra Hadley,

After receiving Shikinia Kennedy-Ward's Council Order request dated June 14, 2024, to cut and clean the lot located at 1031 Pierce Street., a crew was sent out to perform the work. The job was completed on July 25,2024, at a cost of \$74.13. This amount will need to be reimbursed to the Lot Cleaning Account #001-000-288.0.

Laborer to pick up all trash – 1.5 hours @ \$19.42 per hour	\$29.13
Lawnmower w/ operator - 1 hours @ \$25.00 per hour	.\$25.00
Weed Eater w/ operator - 1 hours @ \$20.00 per hour	.\$20.00

Total.....\$74.13

+50.00 Admin Fee \$124.13

Please contact me at 601-319-6170 should you have any questions.

Sincerely,

Elvin Ulmer, Director

To: Sandra Hadley

From: Elvin Ulmer

RE: 1627 Julian Street

Sandra Hadley,

After receiving Shikinia Kennedy-Ward's Council Order request dated June 14, 2024, to cut and clean the lot located at 1627 Julian Street., a crew was sent out to perform the work. The job was completed on July 22,2024, at a cost of \$64.42. This amount will need to be reimbursed to the Lot Cleaning Account #001-000-288.0.

Lawnmower w/ operator – 1 hours @ \$25.00 per hour	\$25.00
Laborer to pick up all trash – 1 hours @ \$19.42 per hour	\$19.42
Weed Eater w/ operator - 1 hours @ \$20.00 per hour	

Please contact me at 601-319-6170 should you have any questions.

Sincerely,

Elvin Ulmer, Director

To: Sandra Hadley

From: Elvin Ulmer

RE: 1231 S 17th Avenue

Sandra Hadley,

After receiving Shikinia Kennedy-Ward's Council Order request dated June 14, 2024, to cut and clean the lot located at 1231 S 17th Avenue., a crew was sent out to perform the work. The job was completed on July 25,2024, at a cost of \$83.84. This amount will need to be reimbursed to the Lot Cleaning Account #001-000-288.0.

Lawnmower w/ operator – 1 hours @ \$25.00 per hour	\$25.00
Laborer to pick up all trash – 2 hours @ \$19.42 per hour	\$38.84
Weed Eater w/ operator - 1 hours @ \$20.00 per hour	

Please contact me at 601-319-6170 should you have any questions.

Sincerely,

Elvin Ulmer, Director

To: Sandra Hadley

From: Elvin Ulmer

RE: 1234 S 17th Avenue

Sandra Hadley,

After receiving Shikinia Kennedy-Ward's Council Order request dated June 14, 2024, to cut and clean the lot located at 1234 S 17th Avenue., a crew was sent out to perform the work. The job was completed on July 25,2024, at a cost of \$128.84. This amount will need to be reimbursed to the Lot Cleaning Account #001-000-288.0.

Tractor w/ operator – 2 hours @ \$22.50 per hour	\$45.00
Laborer to pick up all trash – 2 hours @ \$19.42 per hour	\$38.84
Bushhog w/ operator - 1 hours @ \$22.50 per hour	\$45.00

Total......\$128.84 + 50.00 Admintee

Please contact me at 601-319-6170 should you have any questions.

Sincerely,

Elvin Ulmer, Director